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o EA ¢ 22,100,000 2,100 700 1,400
St ZAIAIZH| X2 4,691,442 4,042,988 648, 454
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06 DI ZNUHEEES 4,691,442 4,042,988 648,454
WRAZAH X AR 4,354,474,0002 4,354,474 3,548,036 806,438
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201 22| 40,350 0 40,350
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OEIp= 40,000 0 40,000
OH00IS A2U2A =4 dUE
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01 dR g9y 10,000 0 10,000
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R 1,257,676 1,095,876 161,800
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Al 222,000 217,000 5,000
307 21201 & 226,000 222,000 4,000
= 4,000 5,000 A1,000
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< 800 1,000 A 200
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307 12+0I & 1,600 2,000 400
= 800 1,000 A 200
Al 800 1,000 A200
02 ItA AR X 1,600 2,000 400
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< 800 1,000 A 200
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01 ©1 M & S 0 2] AL & 7,692 31,990 A 24,298
= 3,846 15,995 A12,149
Al 3,846 15,995 A12,149
307 812+0l & 7,692 31,990 £ 24,298
< 3,846 15,995 A12,149
Al 3,846 15,995 A12,149
WRIETEPNEEN 7,692 31,990 N 24,298
mMEL HSSoe Y 2 H7,692,0009 7,692 31,990 24,298
< 3,846 15,995 A 12,149
Al 3,846 15,995 A 12,149
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Al 14,818 18,552 A3,734
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Al 12,398 15,498 A3,100
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J| 400,000 0 400,000
Al 322,000 0 322,000
06 DI 2SS X2 722,000 0 722,000
WoHXSED SRS A
722,000,000 722,000 0 722,000
J| 400,000 0 400,000
Al 322,000 0 322,000
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